Document containing sequence field TABLE with usage of \s and \r switch:
1 no switch ( 1
H2a

1 with “\s 2” ( 1

H3a

2 with “\s 2” ( 2
H3a

3 with “\s 2” ( 3
H3a

1 with “\s 3” ( 1

H1a
1 with “\s 1” ( 1
H1b
2 no switch ( current value + 1 ( 2
3 with “\s 1”, but no relevance, because not the first item after a heading on outline level 1 ( current value + 1 ( 3
H1c
1 with “\s 1 \r 5” ( \r 5 no relevance, because after \s 1 ( 1

H1d 
5 with “\r 5 \s 1” ( \s 1 no relevance, because after \r 5 ( 5
H1e
6 no switch ( current value + 1 ( 6
7 with “\s 1” ( \s 1 no relevance, because not the first item after a  heading on outline level 1 ( current value + 1 ( 7
H1f

8 no switch ( current value + 1 ( 8
1 FOO \s 3 -> current value = 1

H1g

1 FOO \s 3 -> current value = 1
H3a

1 FOO \s 3 -> current value = 1
H4a

2 FOO \s 3 -> current value  + 1 -> 2
H4a

3 FOO \s 3 -> current value  + 1 -> 3

